[N of reco track vs normalized x2 ]

%)
X

8
=10°

10*

10°

10?

10

[

T T T T T T T T T T T T T

Ratio
i:

f

FOY A S +

4

-

——
Fei==

K

6 18 20

0 2 4 6 8 1012 14 1

z
=3

track x2

| N of associated (recoToSim) tracks vs normalized x?

trug tracks
QU

10

i
T

05F .t

i

L & L 1
0 2 4 6 8 1012 14 16 18 20

track x2

N of associated (recoToSim) looper tracks vs normalized x*

duplicate tracks

=
o
S

8 10

K

12 14 16 18 2

track x2

0

Ratio

0 2 76§ 10121416 18 20

track x?

berset

= —H inQldEiles125_v2_prelimWP_biter
reco track vs.{ ———— EEM*mEELﬁ*@%H%g@?EZ 6iter

trug tracks
(=)
2
F

fake tracks
U

[N
o
w

[N
o
)

duplicate tracks

=
o
S

10+




	Contents
	Page 1


